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QUESTION 1

You have deployed a Juniper EX Series switch in the network. The switch receives a broadcast frame on
an interface.

Which statement describes the behavior of the switch?

A. The frame is flooded out all ports that are part of the same VLAN as the receiving port, except for the port on which
the frame was received.

B. The frame is flooded out all ports in all VLANs configured on the switch.
C. The frame is re-transmitted as a multicast frame on all ports on the switch.

D. The frame is flooded out all ports that are part of the same VLAN as the receiving port, including the port on which
the frame was received.

Correct Answer: A

QUESTION 2

Click the Exhibit button.
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You have an existing Virtual Chassis consisting of five member devices. Member 3 fails and must be replaced. You
remove the EX Series switch with a Member ID and install a replacement switch in its place using identical cabling as
shown in the exhibit. The replacement\\'s member ID is 6, so the configuration for member ID 3 is not applied to it.
Referring to the exhibit, what should have been done before installing the replacement switch?

A. Reactivate the Virtual Chassis.

B. Recycle the member ID of the switch being replaced.

C. Renumber the member IDs.

D. Clear the Virtual Chassis protocol.
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Correct Answer: B

QUESTION 3

Click the Exhibit button. Referring to the exhibit, what does the asterisk (*) indicate?

0x80000001 10 0Ox22 0x4459 32

A. The router received this entry.

B. This entry is stale.

C. This entry is new.

D. The router originated this entry.

Correct Answer: C

The asterisk (*) next to one of the block entries corresponds to the active route that is used for new traffic. The term

\\'new traffic\\' corresponds to a single packet or an entire flow to a destination, depending on the type of switching
configured.

QUESTION 4

Which two values are used to generate a bridge ID when using STP? (Choose two.)
A. system MAC address

B. bridge priority

C. port identifier

D. loopback IP address

Correct Answer: AB

QUESTION 5
Which three BGP attributes are well-known and mandatory? (Choose three.)
A. AS Path

B. Next Hop

JNO-347 Practice Test | IN0-347 Study Guide | INO-347 Exam Questions 3/4


https://www.passapply.com/jn0-347.html
https://www.passapply.com/jn0-347.html
https://www.passapply.com/jn0-347.html

VCE & PDF https://www.passapply.com/jn0-347.html
2024 Latest passapply JNO-347 PDF and VCE dumps Download
PassApply.com

C. MED
D. Local Preference
E. Origin

Correct Answer: ABE
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